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1. How many significant figures should there be in the answer when you divide 4.1 by 7.464?
a.7 b4 c3 d.2
2. Which of the following is a physical change?
a. burning gasoline b. cooking an egg c. decomposing meat
d. evaporating water

3. The symbol for manganese is

a. Mg b. Mn c. Ma d.Mo
4. The number of neutrons in one atom of zgg Hg is
a. 82 b. 206 c.124 d. 288

5. How many electrons are present in a fluorine, F, atom?
a.9 b. 10 c11 d.18
6. The correct name for an aqueous solution of HClis
a. chloric acid b. hydrochloric acid c. hypochloric acid
d. hypochlorous acid
7. When an acid reacts with a base, which product always forms?
a. hydrogen b. carbon dioxide c. water
d. hydrogen and carbon dioxide
8. A reaction that involves a transfer of electrons is called a(n) reaction.
a. precipitation b. acid-base c. oxidation-reduction
d. double-displacement

9. Which gas has the lowest mass per mole?

a. nitrogen b. oxygen c. fluorine d.hydrogen

10. The empirical formula for the compound having the formula H,C,0O, is

a. COH b. COH, c. CH, d. CO,H

11. Consider the following reaction: 2A+B—->3C+D ‘
3.0 mol A and 2.0 mol B react to form 4.0 mol C. What is the percent yield of this
reaction?
a. 50% b. 67% c. 75% d. 89%

12. A given set of f orbitals consists of orbital(s).
a.l b.3 c.5 d.7

13. What element has the electron configuration 1s22522p63523p6451?

~ aRb b.Ca c.Sc d. K

14. Which of these is not an ionic compound?

a. K,CO, b. HC1 - ¢. NaSCN d. NH,I

15. Determine the pressure exerted by 1.80 mol of gas in a 2.92 L container at 32°C.
a. 1.62 atm b. 8.57 atm c. 154 atm d. 22.4 atm
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16. What volume will 28.0 g of N, occupy at STP?
a.5.60 L b.11.2L c.224L d 448L

17. The specific heat capacity of liquid water is 4.18 J/g °C. Calculate the quantity of energy
required to heat 10.0 g of water from 26.5°C to 83.7°C.

a.837] b.572] c.239] d.239x103]
18. Which of the following should have the lowest boiling point?
a.CH, b. C,Hy c. C3Hg d. CHy,

19. A chemist needs 225 mL of 2.4 M HCl. What volume of 12 M HCI must be dissolved in
water to form this solution?
a.3.4mL b. 7.2 mL c.21 mL d. 45 mL

20. You mix 100.0 mL of a 0.100 M NaOH solution and 150.0 mL of a 0.100 M HCI solution.
Determine the concentration of H* in the final mixture after the reaction is complete.
a.0.150 M b. 0.100 M c. 0.0600 M d. 0.0200 M

21. Consider the reaction HNO,(ag) + H,O(l) - HyO* (ag) + NO, (ag). Which species is the

conjugate base?

a. HNO,(ag) b. H,O() c. HyO* (ag) d. NO, (agq)
22. A solution where [H*]=10713 M is
a. basic b. neutral c. acidic d. strongly acidic

(=) EFERE (14%)
1. Convert: 27°C = K
2. Classify each of the following as an element (A), a compound (B), a homogeneous mixture

(C), or a heterogeneous mixture (D).

a. table salt b. chlorine gas
c. sand in water d. petroleum
e. caffeine

3. The formula for barium nitrate is

(=) F8EE (20%)
1. Balance the equation NaBH, + BF; — NaBF, + B,H,
2. Draw the Lewis structure for HCCl,
3. Write the equilibrium expression for the reaction 30,(8)7=204(8)
4. For the reaction 25(s) + 30,(g) — 2504(g)

if 6.3 g of S is reacted with 10.0 g of O,, show by calculation which one will be the
limiting reactant. '






